Exercise
A. Write the numbers in the compact form.

600 + 8 o2 = R 300+40 347

P 0+80+7 b2 0 K 600+50+1 ALY
400 + 7 o2 = 6. 300+20+4 324
200 + 80 + 6 286 B8 100+90+5 - 145

900 + 60 + 2 a2 110. 800 + 1 7o

B. Write the following in standard form :
"1, 4 hundreds + 6 tens + 3 ones = “53’ tg

5 hundreds + 0 tens + 6 ones = EOG g

8. 8 hundreds + 7 tens + 3 ones = &3 ?
"4, 7 hundreds + 8 tens + 9 ones = E?q g

ﬁ 2 hundreds + 5 tens + 7 ones = ﬁ-;‘ l

C. Wﬂu the expanded forms of the following numbers :

b i - &’ hundreds b! tens Eg ones
1= [ runcress Fol] tens

one
o1 = 30 tundrecs Fal tens 55
9 - BLY hundred P29 tens ook

| ones

@ - [ ponoes
: “ hundreds

M’ tens
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